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Q1. Circle the correct option:
1. 46,600 + = 47,000
a) 300 b) 400 c) 500 d) 600
2. The numbers add up to a sum which is greater than 1,00,000.

a) 45000 and 54500 b) 99999 +1  ¢) 89300 and 10000 d) 98900 and 1200
3. 60 x 60 =3600 and 60 x 70 = 4200. Which of these is the same as 3600 + 4200?
a) 78 x 100 b) 70 x 80 ¢) 70 x 60 d) 36 x 42
4. The predecessor of the difference of (80,000 — 50,000) is

a) 30,000 b) 33,001 ¢) 29,999 d) 29,990

Q2. There were two candidates in an election. Mr Bharat got 29,34,903 and Mr Sharat got
18,68,799 votes.

a) How many votes were cast in all?

b) Who won the election? By how many votes?
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Q3. Find the difference between 9,87,643 and the number obtained by reversing the digits
of the number.

Q4. A chocolate factory produces 10,000 chocolates everyday. These are packed in boxes
of a dozen chocolates each. The chocolates leftover are distributed to the workers. How
many boxes are needed daily? How many chocolates are distributed daily?

Q5. Below are Assertion and Reason based questions. Two statements are given below,
one 1s Assertion (A) and the other is Reason (R). Select the correct answer to these
questions from the options (a), (b), (c) and (d) as given:

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation
of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of the Assertion(A).

(c) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

Assertion (A) — In the number 23845, when the place value of digit 8 is divided by the
face value of the digit 4, we get 200 as the quotient.

Reason (R) — 23846 +~2 =11923.
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